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1. BEZBOE
(1) BHEUNER

SEEEENE 62,037,000/ 59,410,000 2,627,000
SRS & 49,485,000/ 46,780,000 2,705,000
SEM R B 5,815,000 5,839,000 A 24,000
ZINEBE 6,737,000 6,791,000 A 54,000
ZaE 350,000 332,000 18,000
FREXREE 350,000 332,000 18,000
SEEB &% 20,078,000/ 20,080,000 A 2,000
SEEERT& 10,039,000/ 10,039,000 0
SENTH X AT B & 10,039,000/ 10,041,000 A 2,000

MUV # 20,000 176,000 A 156,000
MUV #S 20,000 176,000/ A 156,000
HEEREFEEZ TN 2,140,000 926,000 1,214,000
FHEEREFEEZ TN 2,140,000 926,000 1,214,000
RIS ET 84,625,000/ 80,924,000 3,701,000

(2) BEEH

EE 4=, 82,706,000/ 78,966,000 3,740,000
SEIN e 49,485,000| 46,780,000 2,705,000
XIM R EE 5,815,000 4,676,000 1,139,000
BEFH 16,720,000/ 10,407,000 6,313,000
EERME 2,877,000 2,272,000 605,000
RERAER 1,080,000 840,000 240,000
BAELE 60,000 65,000 A 5,000
RERE 0 193,000/ A 193,000
WIS ERE 593,000 575,000 18,000
BME A & 67,000 196,000/ A 129,000
rEERE 150,000 0 150,000
HFEmE 1,050,000 974,000 76,000
EiEE 141,000 76,000 65,000
FORI A& 57,000 663,000/ A\ 606,000

SEE KR E 280,000 286,000 A 6,000
EER 2,483,000 3,035,000 A 552,000




TRBR R 934,000 899,000 35,000
EE 0 5,776,000/ A\ 5,776,000
GERINES 244,000 36,000 208,000
L& 607,000 1,127,000/ A\ 520,000
I F R 58,000 82,000 A 24,000
HE 5,000 8,000 A 3,000
EEE 1,921,000 2,031,000f A 110,000
1% SR 244,000 400,000 A 156,000
BEFY 878,000 548,000 330,000
fRiEES 0 124,000 A 124,000
Et = 209,000 250,000 A 41,000
HEEREXRE 0 30,000 A 30,000
WIS ERE 28,000 29,000 A 1,000
BT E R & 3,000 0 3,000
ERERE 50,000 37,000 13,000
EiEE 6,000 4,000 2,000
DR A& 3,000 29,000 A 26,000
HEKRIE 13,000 15,000 A 2,000
BB 126,000 127,000 A 1,000
GERIMNES 12,000 94,000 A 82,000
SRIN-EEk 314,000 273,000 41,000
e = 29,000 59,000 /A 30,000
XILFER 1,000 3,000 A 2,000
& 5,000 9,000 A 4,000
REER 84,627,000/ 80,997,000 3,630,000
MBS AR Y R R B A 2,000 A 73,000 71,000
Bfiii=Eae s 0 0 0
LR IERER A 2,000 A 73,000 71,000
2. BEBNEROEL
(1) BB AUNES
PN e 0 0 0
(2) BRBNER
RENER 0 0 0
LR E SIB R 0 0 0
LA — AR IE R B YR AR A 2,000 /A 73,000 71,000
— M EREERE RS 0 72,000 A 72,000
— MR IERIERR RS A 2,000 A 1,000 A 1,000




Il 35 ERRM SRR D ER

L4 H3 75 TE 1E BRI EE VB RIAR 0 0 0
EEERMERERS 0 0 0
IEEERMERRES 0 0 0
Il IESRMERRES A 2,000 A 1,000 A 1,000
[%& &g D#k]
(R EEERA)
RETEEINAGH 0 0 0
(& EEX )
REIRE A 0 0 0
(17558 D #R]
(%5 EEINA)
A EENNAGH 0 0 0
(475 EE > )
A EE S HIET 0 0 0




